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tilall (@y1) sh) depudl sl 1-5
w11=2 xV/d41=2x(1,57x1000)/160 rd/s

w11=1 9,32 rd/s

: ) (N11) Jilal s depu canaal 2-5
a d Z m (m=3,14) 2l
66 33 22 15 ()) wq4=(2m % N11)/60 =1 x N11/30
99 66 2 (20)
E N11=(30xw14)Im=30%19,62 It
(o= ZiZ0) < (ZogfZe) 1l OO
N11=187,45 tr/mn
D =mxz a = (dq+da)/2
1
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(14) gasall 23as )30 48 s il -3.8

rg=N15/N5=N14/N5

€3> N27/N5=N26/N5Egp N14=N5*rg
N14=9500.067=63.65tr/min

N14=63.65tr/min

2015 LslSy e Gl o sl a

(Cry) 48 aall in 33 3all raal -9

pi=3.14

PM=Crm*Wim g, Cm=Pm/Wm=30Pm/(pi*950)
Cm=30*3*1031pi*950 =30Nm
(Cy) oA 2 A ys el ol 210

Ps=Cs™Ws &3» cs=ps/Ws=30*Ps/(pi*N14)
N=PS/PM cuty, ps=pm*n=3+0.55=1.65KW
Cs=30%1.65*10 /(pi*63.65)=247.672Nm

a da h d z m

g3 |2 |4.5[38 [ v ®
132 (4 51128 64 (15)

da=(z+2)m....m=dal/(z+2) HHEA

d=z*m
h=2.25m

a=(d9+d15)/2

1 g » Al Al sl -2.8

rg=r5/20*r6/11*r9/15
=(Z5/Z20%(Z6/Z11)*(29/Z15)

=(17/68)*(20/22)*(19/64)=0.067

rg = 0.067

2015 Ly die adl ) (el Ja

BAC 2015
AS 13 (4) 2 453 4 590 4 aal =
S 1Y (4) gaodd see s Ao ju qual = ¢ ar 1 da 3 3127 Im
Ny, = 1500 tr/mn 4c 23 (12)d jaall 3 gaald
81 91.81 | 36,64 87 | 29 16
r= 1/ 2y Ne- 1. Np 3
o Ny -t Ny, 112.57 | 120.54 | 53,36 17 | 39 27
L d=m.Z
i, s imm alimie Tl
N = 1115.38 tr/mn
2
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2014 LSy pde wald (el da

d, 40 1 e
**d; 200 5 d, = 240 - 40 = 200mm
(2) 25l g0 A e al 3.6 Z, = 18—- 4_0_= 20 dents
m 2
Pyl eioinn 1 2, =95 - %:100 s
N, =N, =Ny, , =750 =150ir/rmn -

=d, +2xm=200+4 =204mm
: G Joball ) goda caual .7 da, =d, +2xm=40+4 = 44mm
df, =d, -2.5xm=200-5=195mm
df, =d,-2.5xm=40-5=35mm

=N
r=—==032=
N,

C=2xr=2x52=104mm

2014 LS pde udba (4l Ja

N, =N, xr =750x0.32 = 240tr/mn
(3) A S e C An o3l uanl 3.6

_P 30xP
. ® =®xN
_30x1.5x10° _
s 3.14x750 AN e
s o ST dd 0l oa 4.6 Z. = 8s . 208 498
(3)s A m 3
da, =d, +2xm=114+6 =120mm
= d, 2xC
C=T x?= T= d, da, =d, -2xm=354 -6 =348mm
3 df, =d, -2.5xm=114-7.5=106.5mm
T=2x19.10x10 - 335 08N 3 =% ) e
114 df, =d, +2.5xm=354+7.5=361.5mm
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2013 Ll Jde ala Gp ol da

BAC 2013

el S8 L aa-12

[ =339 =3/5 x5/24 =1/8=0.125

G yu of Lale (11) 2 30all 5,301 Loy 235013
1500tr/mn : 2 »%6 &yl

(10) 5 (9) cw Bl dauss csai -1

Ny1=N x 0.125 = 187.5trymn
ros=Nw/Ne = dg /dig=60,/288
Mo = 5/24
2013 Ll jdie (b o pal Ja
BAC 2013

(7) 5 (6) o Al s awai =10

rs7=Ng/N; = d; /dg =80/100

_?= -

do yu of Lle (1) 20t £5 Al do yus il -11
1500tr/mn : = 38 & |

N; = N x s 7=1500x0.8= 1200tr/mn_

2012 Lysllsy pde awld o pal Ja

BAC 2012 a|df[da|z | d|m
z 4 6
(5)s (4) Govpml il e el 36 )| | 30 44201901 ©
Tog = 5% => Ng =l xN; = 400tr/mn 95 | 104{ 50 | 100 (7)
6
N4=Ns=Ng=400tr/mn dag =d, +2m=44mm Ze=9'3=20
(5 sissn e Cm A8 _jadl &a 2 3l caal 4-6 | o, =d - 2.5m=35mm m
+ O oA | da, =d, +2m=1040m | _d _ 2
cm=P-30xP _ 30x3000 _,g eamN of, =d,-25m=96mm ~ d7 -
o 7wxN  3.14x1000
Aty . 55 z, =3z 50
O 5 sa o S5l T puleddl yall ual 5.6 | 87— 5~ fimm - & ==
H(B)s Al Top Jill Lusd Cual 2.6
7_Cm_ 2866 _28.66x1000 _. oo\l o o ool gosedl bl
r 20x107 20 4 jita (6)
2
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2012 Ligllss g9 e Cnpal o

a=(d4+d5)/2=41mm
BAC 201 2 Z5=d5/m=14 24:d4/m=27

delin) of Wle Cp @ yaall A3 53 30 cawal -9
. Np= 750 tr/mn sP=1.5 Kw <& adll

P=Cm x w=C, x MN.N,/30
Cm=30 xP/IN.N,=30.1500/3.14 x750

Cr=19.10N.m e (19) 2s0all ¢ 553 42 s cusal -8
(4) Al Aaall T el 32l Caal 210 Np=N4=750 tr/mn & &oadl e
Cm=T x d4/2 rs.5=de/ds=Ns/Ngs

T=2 Cpn/d4=2 x19100/54 N5=N19=N4 x d4/ds=750 x 54/28
T=707.40N N5s=N49=1446.42 tr/mn

2011 Lol (g pde g 3algll Gp ol Ja

f Ol b )5 )S.')‘ -2-6 d Z d m
d).‘-\"' ki g +0s 1 tg6 = | d=mZ

byjadipd gl | e | Zy/Ze o
ZaAN e ju wal 3.6
g 21 | 15 | 45 >
r=ds/dg = N¢/Ns—> Ng=dsNs/ dg 63° 30 90 : §6;

Ng=2501tr/ mn

2011 Lol g 5 (G Oyl da

XN RN Ay e 2.6 I BAC 2011 I

r=rsXrse=1/7x1/3 = 1121 r‘ p | hf | ha

(g e Huall3es
r=N;/N, = 121 —e N; =1/21 x N,

Ns=1/21 x 1200 = 57,14 tr/mn 8016,28|2,5| 2
st N¢ = N_,: 571k be/mm

0(6,282,5( 2




